
Spec-00414  G

PROLINE™ Frames and Frame Accessories  PROLINE™ Frame Accessories

EQUIPMENT PROTECTION SOLUTIONSSUBJECT TO CHANGE WITHOUT NOTICEModular Enclosure Systems1

Spec-00414G763.422.2211763.422.2600

Modular Enclosure Systems
PROLINE™ Frames and Frame Accessories
PROLINE™ Frame Accessories

Frame Joining Kits Permits joining two enclosure frames while maintaining an 
environmental seal.
Side-to-Side Joining Kit consists of six frame nuts and screws, as 
well as gasket material to maintain a dust-tight and water-tight seal 
between ganged frames. Can be used if rack angles are not in the 
front or rearmost positions or if a subpanel is not in the rearmost 
position.
Alternate Joining Kit  consists of three standoffs, six frame nuts 
and screws, as well as gasket material. This kit facilitates frame 
joining when rack angles are in the front or rearmost position, or if 
a subpanel is in the rearmost position.
Front-to-Back Joining Kit  permits front-to-back joining of two 
single-bay enclosures. This kit does not fit 1200-mm or 1600-mm 
wide frames.
Bulletin: P20, P20EM
Catalog Number Description
PJ2F Standard Frame Joining, Side-to-Side
PJ2FD Standard Frame Joining, Side-to-Side, Non-gasketed
PJ2FHF2 EMC Standard Frame Joining, Side-to-Side
PJ2FF Alternate Frame Joining, Side-to-Side
PJ2FBF Frame Joining, Front-to-Back



Spec-00414  G

PROLINE™ Frames and Frame Accessories  PROLINE™ Frame Accessories

PH 763.422.2211 • FAX 763.422.2600 • HOFFMANONLINE.COMEQUIPMENT PROTECTION SOLUTIONS Modular Enclosure Systems 2

L Joining Bracket
The L Joining Bracket, made of 10 
gauge steel, is used in conjunction 
with the standard joining kit as 
additional support. Pictured 
hardware is included.
Bulletin: P20

Catalog Number Description
PJB2F L Joining Bracket

Stainless Steel Legs

Legs mount to the bottom of a solid base to elevate the enclosure 4 
in. (100 mm) from the floor. The legs are made of Type 304 stainless 
steel and are appropriate for hose-down applications. Mounting 
hardware is included.
Bulletin: P20S

Catalog Number Description
PLEGSS (4) Stainless Steel Legs

Lifting Eyes

Lifting Eyes are used for lifting PROLINE™ modular frames and for 
fastening PROLINE top accessories to the frame. Lifting eyes thread 

into corner blocks in a frame. Furnished in sets of four with plated 
finish.
Lifting Eyes are designed for overhead lifting in conjunction with 
shackles and a spreader bar. Use of shackles instead of hooks is 
preferred. The angle between the top of the enclosure and the cable 
or chain must be at least 45°. Use only slings and spreader bars that 
are designed for the specific application and are in compliance with 
regulations established by OSHA, ASME, ISA, ASTM and other governing 
agencies.
Bulletin: P20
Catalog Number Description
PLEM12 (4) Lifting Eyes

Lifting Angles

Used to provide best load distribution while lifting two or three 
ganged enclosures with up to 1000 lb. of equipment and cabling in 
each bay. Angles mount to top of enclosure frame corner blocks 
and do not require removal of top cover for installation. Kit consists 
of two angles and four bolts and washers. Angles are clear zinc-
coated 10 gauge steel.

Lifting Angles are designed for overhead lifting in conjunction with 
shackles and a spreader bar. Use of shackles instead of hooks is 

preferred. The angle between the top of the enclosure and the cable 
or chain must be at least 45°. Use only slings and spreader bars that 
are designed for the specific application and are in compliance with 
regulations established by OSHA, ASME, ISA, ASTM and other governing 
agencies.
Bulletin: P20

Catalog Number Description
PJLBFB Front-to-back lifting angles
PJLBSS Side-to-side lifting angles



Spec-00414  G

PROLINE™ Frames and Frame Accessories  PROLINE™ Frame Accessories

EQUIPMENT PROTECTION SOLUTIONSSUBJECT TO CHANGE WITHOUT NOTICEModular Enclosure Systems3

PROLINE™ Fastener Packages
Use to fasten components to the 
grid system. PGF Packages include 
20 front-loading clip nuts (M6) and 
20 combination-drive washer-head 
bolts (M6). 
Grounding Package is used with the 
rectangular holes in the PROLINE™  
frame to provide electrical 
continuity between the frame and 
the grid system. ASM5T Package is 
used with PROLINE frames having 
round holes. Package includes 20 
M5 self-tapping screws.
Bulletin: DACCY, P20

Catalog Number Description Use in Pkg. Qty.
ASM5T M5 x 12 mm thread-forming Phillips hex head screws Round holes 20
PGFM6 Standard Package - M6 cage nuts and bolts Rectangular holes 20
PGFGM6 Grounding Package - M6 grounding cage nuts and bolts Tapped holes 20

Touch-Up Paint
For repairing the finish of any 
painted parts.
Bulletin: DACCY, P20

Catalog Number Description
ATPG7035 RAL 7035 Gray
ATPB9005 RAL 9005 Black



Spec-00414  G

PROLINE™ Frames and Frame Accessories  PROLINE™ Frame Accessories

PH 763.422.2211 • FAX 763.422.2600 • HOFFMANONLINE.COMEQUIPMENT PROTECTION SOLUTIONS Modular Enclosure Systems 4

Notes



X-ON Electronics
 
Largest Supplier of Electrical and Electronic Components
 
Click to view similar products for hoffman manufacturer:
 
Other Similar products are found below :  

A-1412CHQR  CSD201610  CSD20168SS  CSD20206  CSD20208SS  CSD24168  CSD36248  CSD36308  PCU7  PT126  A1008CHNFSS 

A10106CH  A10106CHFL  A10106PHCW  A1066JFGQRR  A1210CHNF  A1212SC  A1412CHNFSS  A161208LP  A161410CH  A16H12ALP

 A16P14  A16P16G  A18P16AL  A20H16BLP  A20P16  A24H2408SSLP  Q13138PCE  A404CH  A606CHNF  A606NF  A806SC  A845JFGR 

A864CHQRFGW  A90P36F1  HJ1412HWPL2LG  HJ1816HWPL2LG  RHJ1210HWPL2LG  AS125SS  ASE10X10X4  ASE12X12X4  E1PBG 

E2PBG  E3PB  LED24V15  LF230VD  A10106PHC  A10P8SS  A1210CHEMC  A1210CHFL  

https://www.x-on.com.au/manufacturer/hoffman
https://www.x-on.com.au/mpn/hoffman/a1412chqr
https://www.x-on.com.au/mpn/hoffman/csd201610
https://www.x-on.com.au/mpn/hoffman/csd20168ss
https://www.x-on.com.au/mpn/hoffman/csd20206
https://www.x-on.com.au/mpn/hoffman/csd20208ss
https://www.x-on.com.au/mpn/hoffman/csd24168
https://www.x-on.com.au/mpn/hoffman/csd36248
https://www.x-on.com.au/mpn/hoffman/csd36308
https://www.x-on.com.au/mpn/hoffman/pcu7
https://www.x-on.com.au/mpn/hoffman/pt126
https://www.x-on.com.au/mpn/hoffman/a1008chnfss
https://www.x-on.com.au/mpn/hoffman/a10106ch
https://www.x-on.com.au/mpn/hoffman/a10106chfl
https://www.x-on.com.au/mpn/hoffman/a10106phcw
https://www.x-on.com.au/mpn/hoffman/a1066jfgqrr
https://www.x-on.com.au/mpn/hoffman/a1210chnf
https://www.x-on.com.au/mpn/hoffman/a1212sc
https://www.x-on.com.au/mpn/hoffman/a1412chnfss
https://www.x-on.com.au/mpn/hoffman/a161208lp
https://www.x-on.com.au/mpn/hoffman/a161410ch
https://www.x-on.com.au/mpn/hoffman/a16h12alp
https://www.x-on.com.au/mpn/hoffman/a16p14
https://www.x-on.com.au/mpn/hoffman/a16p16g
https://www.x-on.com.au/mpn/hoffman/a18p16al
https://www.x-on.com.au/mpn/hoffman/a20h16blp
https://www.x-on.com.au/mpn/hoffman/a20p16
https://www.x-on.com.au/mpn/hoffman/a24h2408sslp
https://www.x-on.com.au/mpn/hoffman/q13138pce
https://www.x-on.com.au/mpn/hoffman/a404ch
https://www.x-on.com.au/mpn/hoffman/a606chnf
https://www.x-on.com.au/mpn/hoffman/a606nf
https://www.x-on.com.au/mpn/hoffman/a806sc
https://www.x-on.com.au/mpn/hoffman/a845jfgr
https://www.x-on.com.au/mpn/hoffman/a864chqrfgw
https://www.x-on.com.au/mpn/hoffman/a90p36f1
https://www.x-on.com.au/mpn/hoffman/hj1412hwpl2lg
https://www.x-on.com.au/mpn/hoffman/hj1816hwpl2lg
https://www.x-on.com.au/mpn/hoffman/rhj1210hwpl2lg
https://www.x-on.com.au/mpn/hoffman/as125ss
https://www.x-on.com.au/mpn/hoffman/ase10x10x4
https://www.x-on.com.au/mpn/hoffman/ase12x12x4
https://www.x-on.com.au/mpn/hoffman/e1pbg
https://www.x-on.com.au/mpn/hoffman/e2pbg
https://www.x-on.com.au/mpn/hoffman/e3pb
https://www.x-on.com.au/mpn/hoffman/led24v15
https://www.x-on.com.au/mpn/hoffman/lf230vd
https://www.x-on.com.au/mpn/hoffman/a10106phc
https://www.x-on.com.au/mpn/hoffman/a10p8ss
https://www.x-on.com.au/mpn/hoffman/a1210chemc
https://www.x-on.com.au/mpn/hoffman/a1210chfl

